
AP Calculus BC      Name: _______________________ 

Unit 8 – Days 1 – 4 – QUIZ REVIEW 

 

Directions:  Match the problem in Column 1 with the solution in Column 2. 

Column 1 (Problems) Column 2 (Answers) 

1. 
𝑑

𝑑𝑥
[arcsin⁡(36𝑥)] a.  7𝑎𝑟𝑐𝑠𝑖𝑛 (

𝑥−2

3
) + 𝐶 

      2.  ∫(𝑡𝑎𝑛𝑥) ln(𝑐𝑜𝑠𝑥) 𝑑𝑥 b.  √2arctan (
𝑥

√2
) + 𝐶 

      3.  ∫𝑥2(𝑥3 + 5)6𝑑𝑥 c.  
1

3
arctan (

𝑠𝑖𝑛𝑥

3
) + 𝐶 

      4.  ∫
2

𝑥2+2
𝑑𝑥 d.  

1

|𝑥|√
1

4
𝑥2−1

 

     5.  ∫
𝑒𝑥𝑑𝑥

(𝑒𝑥+2)2
 e.  3𝑥 − 9 arctan (

𝑥

3
) + 𝐶 

     6.  
𝑑

𝑑𝑥
[arcsec⁡(

𝑥

2
)] f.  

16𝑥−4

|4𝑥−1|
 

     7.  ∫𝑥√1 − 𝑥𝑑𝑥 g.  
6

√1−36𝑥2
 

     8.  ∫
7

√5+4𝑥−⁡𝑥2
𝑑𝑥 h.  √2𝑥 + 1 + 𝐶 

     9.  ∫
3𝑥2

𝑥2+9
𝑑𝑥 i.  −2√9 −⁡𝑥2 − 3arcsin (

𝑥

3
) + 𝐶 

     10.  
𝑑

𝑑𝑥
[4𝑥] j.  

1

2
𝑎𝑟𝑐𝑠𝑒𝑐|2𝑥| + 𝐶 

     11.  ∫
5𝑥

√𝑥+2
𝑑𝑥 k.  4𝑥𝑙𝑛4 

    12.  ∫
𝑐𝑜𝑠𝑥

9+⁡𝑠𝑖𝑛2𝑥
𝑑𝑥 l.   −

1

2
[ln(𝑐𝑜𝑠𝑥)]2 + 𝐶 

     13.  ∫
2𝑥−3

√9−⁡𝑥2
𝑑𝑥 m.  

1

2√𝑥(1+𝑥)
 

     14.  
𝑑

𝑑𝑥
[|4𝑥 − 1|] n.  −5 csc(5𝑥) cot⁡(5𝑥) 

     15.  ∫
1

√2𝑥+1
𝑑𝑥 o.  

2

5
(1 − 𝑥)

5

2 −⁡
2

3
(1 − 𝑥)

3

2 + ⁡𝐶 

     16.  ∫
1

2𝑥√4𝑥2−1
𝑑𝑥 p.  

1

21
(𝑥3 + 5)7 + 𝐶 

     17.  
𝑑

𝑑𝑥
[𝑎𝑟𝑐𝑡𝑎𝑛√𝑥] q.  

1

2
ln(𝑥2 + 9) + arctan (

𝑥

3
) + 𝐶 

     18.  
𝑑

𝑑𝑥
[csc⁡(5𝑥)] r.  

10

3
(𝑥 + 2)3/2 − 20√𝑥 + 2 + 𝐶 

    19.  ∫ 𝑠𝑖𝑛33𝑥𝑐𝑜𝑠3𝑥𝑑𝑥 s.  
−1

𝑒𝑥+2
+ 𝐶 

    20.  ∫
𝑥+3

𝑥2+9
𝑑𝑥 t.  

1

12
𝑠𝑖𝑛43𝑥 + 𝐶 

 


